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2.8 Subspaces of R".

Example: The nullspace of A is the

solution set of Ax = 0.
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Suppose Avy = 0 and Avy = 0, then A(c;vy + covz) =0

NOTE: Nullspace of A = span{ | — 73 -y /)
: \
? J &
o :
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2.8 Subspaces of R".
w

Long definition emphasizing important points:

Defn: Let W be a nonempty subset of R*. Then W is a subspace
of R™ if and only if the following three conditions are satisfied:

ii.) if vq,ve in W, then vy + v, in W,
I m—— S S

Bl) it vin W, then cv in W for any scalar c.

b

Short definition: Let W be a nonempty subset of R™. Then W is a
subspace of R™ if vq,va,in W implies ¢c;vy + cyvy in W,

e -

Note that if S is a subspace, then

it vi,ve,...,vp in S, then ¢; vy + cave + ... + ¢, vy isin S.

Ov=0isin S.

Defn: Let S be a subspace of R*. A set T is a basis for S if
i.) 7 is linearly independent and
ii.) 7 spans S.



